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Heifer's growth, BW

%07y =36.707 + 0.26762x + 8.6071e-3x*2 - 8.3333e-6x*3 RA2 = 0.997

X treat

y = 35.857 - 2.0404e-2x + 1.1742e-2x"2 - 5.5720e-5x*3 R”*2 =0.999
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Heifer's growth, H.G.

_ y=73.981 + 0.10587x + 1.6071e-3x"2 - 2.7778e-6x"3 R"2 = (0.999

y = 74.005 - 2.7381e-3x + 4.4881e-3x"2 - 3.3333e-5x*3 R”*2 =1.000
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Heifer's growth, Withers

1 y=70.886 + 3.0913e-2x + 3.8690e-3x"2 - 2.2222e-5x"3 R"2 = 0.997

B control

y =69.583 + 0.13897x - 1.6667e-4x"2 + 5.5556e-6x"3 R”*2 = 0.999
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Heifer's growth, F.L.

X treat

y =44.801 + 1.0972e-2x + 4.3112e-3x2 - 4.1095e-5x"3
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1 y=44.697 +0.11646x + 1.2183e-3x"2 - 9.4965¢-6x"3 R"2 =0.997

RA2 =1.000
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Heifer's growth, Hip
y =73.176 + 0.22290x - 2.0238e-3x"2 + 3.0556e-5x"3 R”*2 =1.000

X treat

B control
5]

y =72.907 + 9.4762e-2x + 1.4643e-3x"2 - 8.3333e-6x"3 R"2 =0.997
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Daily milk intake (kg)
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MILK CONSUMPTION

10

Age (days)
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